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1. The question paper should contain total 110 multiple choice objective type questions which shall
include 10 questions on Rajbhasha (policy/guidelines/Rules etc.) and questions on Rajbhasha will be
optional. ‘

8 A AR 110 U 8, R X & 10 0% § o Gfd B

2. Candidates are hereby advised to attempt any 100 question out of total 110. questions. If, any
candidate answers more than 100, then the first attempted 100 questions will only be considered for
evaluation. ’

Inftear & wag I 3, B 110 I AR HE 100 UM BIET BN af #ié gEfiaar 100 A 3 Usl 56l HIE 8, A HuH g9 5T
100 W3 1 G T S .

3. All questions will carry 01 mark each and there will be 1/3™ negative marking for each and every
wrong answer.

s o1 S HE I e TR AR 1/3" 3 HTe W |

4. In case of any discrepancy in Hindi version of questions then English version will be stand good.

© py R e FR SR TR SR Wi 1 e A S |

5. The candidates are not allowed to keep mobile phones/pagers/calculators/Smart watches/ bags or
any other documents / papers with them in the examination hall.
WW@N%ﬁIﬁWW,W,W{W@.@ﬂ.WWWmEﬁG{E[Hﬁﬂ'eﬁ%* |

6. The candidates can’t leave the examination centre during the examination hours.

Infiear aften & T A TN S5 SIS el S Fad |

7. if any candidate is found indulged in copying or any other unfair means, would be taken up under
DAR as per Railway service conduct rules.
afe o1 el T P gu fft s srfar MR & R o 9T 8, @ DAR Railway service conduct
yow & dga <8 & |t anm i

8. The answer key along with question paper will be uploaded in the SECR official website
(www.secr.indianrailways. gov.in— About us— Division— Bilaspur— Personnel— Question and Answer Key).

3 §ﬁﬁ F G- Y U W SECR @1 UPIRG  website  (www.secr.indianrailnays.pov.in—  About
us— Division— Bilaspur— Personnel— Question and Answer Key) W 3Oars fhar o |

9. Candidates may raise objections if any within 3 working days from the date of uploading of
answer key in the prescribed format as specified in the SECR official website.

TR Ppoll HUAIS B P 8T 03 e A & AR W U / ST ol W ey Sty Fufa weud SR wEd &

10. In case, the said exam has been decided tp conduct in different dates then the answer key along
with question paper will be uploaded in the SECR official website date wise on the last day of

" examination. :
If Tl R wiRmy R & g g 8, 0wy =/ I ot Jifaq wden TIUF € & 9T SECR BT SRS
website U% faefiar erueirs &R &t a1

11. If objections raised by the staff concerned are found correct, then revised answer key will be

uploaded again in the SECR Official website thereafter, no further representations shail be
entertained.

af e % 2T SnuRy wE) T Sen 2, Al SUET WA TR ol SEeR B RAIFI website T TS HR & 7T
T IeR ol A e oft GHR T simafty u far FeY Fan S



1 rororaT e Fa i foha s an ?

" A.1963 B.1967 C.1976 D. 1965

2. TRrET Y ore gt Pt wraTd o & 2
A.19 B.20 C.21 D.22

3. ﬂw%ﬁ%maﬁ@@rwwﬁﬁmﬁaﬁ
F@ AT ?

A.2 B.3 C4 D.5

4. éﬁwiﬂ%wwmaﬁﬁ%aﬂaaﬁ?@%
g ?

A. wETIEgE B, s wEmegs  C. {Ed T
AT D. ST ARTIEH

5. Ry ot T R R R ? |
A s B. Rt C.RaAwr D AW
6. STV T Y TSTHTIT FIT g ?

A. SR B. FOTet C. &R D. SUS

7. $eTE F FREATHIL DA G ?
A. 3= B. wnﬁ—gg&% C.df%w =g D. wwadt
LT AT

8. Y Ry o AT ST & 2



A 5ReaT B, 14fdax  C. 10wz D. 14
9 Yoy Rt T IHTWorT R ST w7 Y STl g7
A. 38, 8ft B, wrefars, s, {1 C.Rw,
grafars, si¥st D. wTefers, fReat, strsty |

10. SR ATaT FoF T T AT R 2

A. 5w B, Fg et C. fag D. 9gTg

11. POH of BOXN wagon at the interval of in
Months

Tt 9 T POH fFa 919 % siqae qXgan g ?
a) 12 b) 09) C)18 D) 54 |

12. ROH of BOXN wagon at the interval of in
- Months

ST 499 FT ROH ¥ #&iw & siaaa X grar g ?
a) 12 b) 09) C)18 D) 54

13. Minimum Buffer height of Goods wagon is
....... mm

e AT F THC A G o A BT
a) 1030 b) 1075) C)995 D) 1000

14. Permissible limit of Deep flange is.......... mm’

| ﬁqﬁﬁﬁqﬁﬁaﬂ@ﬁmwg‘?
a) 35mm b) 50mm c)55mm d) 40mm



15. Brake pipe pressure is ...........

T TTET T e garg |

a) 4 kg/cm2, 5 kg/cm2, c)6 kg/ cm2, d) 7 kg/ cm2
16. IOH of ICF Coach is done in the interval of

a) 6 months b) 7 months ¢) 8months, 9) 09 Months
17. Limit of Flat tyre in wagon is..........

a) 40mm, b)50mm, c)60mm, d)70mm

18. Brake power percentage of Air braked CC rake
at Originating station i.e.PME is ............ %

yrfews e u< T 3% T & w1 a6 6 %
T e |

a) 30, b)50, ¢)60, d)100
19. Standard wheel gauge of passenger BG

Coaching stock is.......... mm
FESTT AT ST HICET T2 F TS salel 9 ... mm
AL

a) 1400, b) 1500 ¢)1600, d)1700
20. CBC fullformis..............
AT FTRTATH o gare |




a) Centre Bogie Coupler b) Curved Bogie Coupler >

c) Centre Buffer Coupler d) Centrifugal Bogie
C_oupler

21 Look at the series and calculate what should come next—1, 4, 9, 16,

forer w0 § STed] e 1 & gni- 1, 4, 9, 16, -

A)20, B.21, C.25 D.36

22. Complete the analogy — 10:100 : : 11: 7
I FEAT A1 wA- 10:100 001107
A)99, B. 110 C.121 D. 116

23. Can you find the missing number
AT TE&AT T TAT A0 -
A+B=4, B+D=6, C+E=8, D+F=7

A7 B.9 C.12 D. 10

24. Find the number -1, 8, 27, 64, 125, .......

Tl T T 94 FT0- 1, 8, 27, 64,125, ...

A) 343, B. 216, C.512, D. 250,

25. The pattern followed here, please find the missing number..

T w7 &7 % foro 3= |egT 1 aar ..

1 16 | 49
4 25 |64

EB?)G?

A)81 B.100 C.121 D. 144

26. Select the option that will fill in the blank and complete the given series.

U HEAT T AT FT A0 LI F
15, 17, 20, 24, 29, 35, ..... ) e



1) 41,48 B.42,50 C.43,50 D.44,51
27. Find the missing letter |

AT &L T GE

A B D

16 . (13 20

C
£ KPP 1}
9
AP B. S C. T D |
28. Select the related word from the given alternatives-
waﬁwaﬂﬁ%ﬁqﬂ‘;ﬁamquﬁ-
RAILWAY : ALA :: GARDEN : ?
A)BDB B.AND C. GAR D. DEN
29. Complete the sequence-
Forer ofy 77 T F-
2,6,12, 20, 30, .....
A)42, B. 50, C. 40, D. 48,
30. Find the missing number-
ST H=AT T qaT M0 -
100, 144, 196, ....., 324, 400
A)225, B. 256 C. 289, D. 121
31. Complete the sequence-
FH T T H -,
A E, I, M, Q U ?
A)X, B.Y, C. A D <Z

32. What is name of general manager of SECR?



Wﬁq%ﬂW%Wﬁﬂmwg?

‘A.  Gautam banarjee B. Nirmala sitaraman C.
Praveen Pandey D. Neenu lteyerrah

A e et B, BrferT AT C. T T D,
A zeua

33. In triangle ABC, AB=3cm,BC=4cm, and £B = 90°. What will be the
length of AC?

vt ABC #, AB = 3 1, BC = 4 AfY, < ~B = 90° §1 AT AC F FaTS FAT EHA1?
A.6cm
B.5cm
C.7cm
D.8cm

34. Find the area of a circle if its radius is 7 cm? T&h g &t BT 7 9t §, ar
SHEHT SAHT T HL2

A. 147 cm? B. 154 cm?
C.156cm? D. 297 cm?

35. If a+b=9 and a2+b2=53 then find the value of ab?
IfF g+b=9 3T aZ+b?=53 AT ab T ATH AT T2
A. 20

B.8
C.14
D. 18

36. A car covers a distance of 240 km in 4 hours. Find its speed in km/h?

o I 4 T 7 240 Feft A g qw T ) weh afw (/g ) A
2

A. 50 km/h



B. 60 km/h

C.70 km/h

D. 80 km/h ’wa)
* 37. find the value of rif (p+q) 2=16 and p-q=4 ,r=2p? (f_@)”u

r T W ST Y 3T (p+q) 2=16 3A<p-q=4 ,r=2p?

A 8 B. 10 C.4 D.6

38. Find the circumference of a circle if the radius is 14 cm3 T T 9 EIRERDY
14 FHY &, 7 sy ¥ sTa w0

A.44 cm B. 66 cm C.95cm. D.88cm

39 A car travels 960 km in 10 hours. Find the speed of the car irkm/h?

T FT 10 St & 960 FreY i g a7 FAT 7)1 AT A (Frft/eer ®) =19
F?

A. 100km/h B. 60 km/h C. 96 km/h D. 86 km/h

40 . What is the value of 999 x 999 ?
999 x 999 T AT AT 52
A. 998001 B. 937002 C. 997003 D. 997004
41. Find the value of 22x3?x4%x5%?
22y 32 x 42 52 T AT FATT H3?
A. 14400 B. 14501 C. 14404 D. 14405
42. What is the formula for the volume of a cylinder ?
ST T AT FATBIAT S ?

A.1/3 mr?h
B. tr*h
C.4/3 mr*h
D.2nrh



43.

44.

- 45,

Which of the following is NOT a type of railway station layout?
a) Junction '

b) Terminal

c) Gradient

d} Crossing

e & & F a7 T LT AHSE FT THL ol 57

a) ST |

b) ZfH{as

c) afeue

d) ITEAT

What is the purpose of a marshalling yard?

a) To repair damaged railway cars.

b) To assemble trains by sorting and organizing cars
c) To provide passenger services

d) To sell tickets and manage reservations

- ATRRT ATE T 32T AT E?

3) ST Yo TR T AT FIAT

b) TR F7 FHAG A HATEAT FToh Ig shgl FLAT
¢) I AT IR HLAT

d) feshe F=AT ST LT TeeeT FTAT

Which of the following gradients is generally considered safe for railway

tracks?
a)lin5

b)1in 10

c)1in 100
d)1lin2

ﬁmﬁammmwa%mmwmw

STaT 87?
a)1'ﬁ'5
b) 1 ¥ 10
¢) 1¥ 100
d)1¥ 2



46 In railway terminology, what does CSL stand for?

47.

48.

49.

a) Carriage Sorting Layout

b) Crossing Station Line

c) Critical Speed Limit

d) Clear Standing Length.

Yoy ersaTa! |, CSL T FAT HaA 87?
a) i TifET A3mse

b) FIRIT Tar ATST

c) frfeaer vfie forfae

d) Foera e o

What is the primary function of a terminal yard?
a) To act as a crossing station
b) To provide fuel to trains
c) To repair train engines
d) To serve as the final stop for loading or unloading
U =fieer ATE T YT HTH FT 82
a) FITAT €99 F &7 § H FLAT
b) ST T TEF TRTH HIAT
c) 2 ST st ALFHT FIAT
d)aﬁﬁwmmﬁv%ﬁqaﬁm%wﬁﬁmw

Which component is NOT typically found in a goods yard?
a) Loading dock

b) Weighbridge

c) Passenger waiting area

d) Marshalling area

T TS F ATAATE T FIT AT TEF QI AAT AT R

a) e i

b) AT T

SEIEL TS &

d) aretfeiT &=

In a coaching yard, which of the following is primarily managed? |

10



50.

51.

52.

a) Freight goods

1!
b) Empty coaches for passenger services

c) Train engines only

d) Only high-speed trains
T R AT F, ﬁaﬁrﬁ@aﬁ@r%&wmwﬁmww%w%’?

a)Wa’lﬂT{
b) A FaTet F forw et S

¢) HEA T ZoI

d) Faer Ig Tfa arat e

Which of the following is a key component of a marshalling yard?
a) Booking office

b) Parcel room

c) Sorting lines

d) Platform
ﬁﬁﬁf@ﬂﬁﬁaﬁ?mmﬁﬁmwawwwmi?

S EEREICIER]

. b) TTE FeT

¢) AtfET AR
d) WEHH

Which component is essential in a coaching yard for the maintenance of
passenger coaches?

a) Watering facilities

b) Freight storage area

c) Carriage scales

d) Diesel refueling station

FIFRAT A7 F At A F @@ % O S A7 qEH AG9AF 87
a) T T AT

b) WIS SETTOT &7

c) e wred

d) STt I A &AA

‘Which of these is NOT a typical component of a goods yard?

a) Marshalling lines
b) Loading dock
c) Passenger amenities



53.

54.

d) Storage shed

= & FT AT ST ATE KT ATHT H2F ol 8?
a) AT TRT ATZA

b) AT S14h

SRIEIGIERIL

d) =TT 9T

Which of the following is often found in a goods yard to manage weight?
a) Ticket counter

b) Weighbridge

c) Signaling post

d) Water station

T S ¥ o e ATE # sy fRwferRa § & i ar S 2
a) fooe F1r3ex

b) ST TA

c) FraferT g

d) TTHT T T

Where is the catch siding provided.
a)Out side the station yard.
b)Inside the station yard.

c)Iin block section.

d)All the above.

¥ ar=fer wet y=T & Sl a?
a) TEIT ATE o dTET

b) T ITS * T

c) ST FFH F A= H

d) ITLrh T

12



55. The authority to pass Last Stop-Signal in Automatic Signal Territory if 3
signal gets fail-

Automatic Signal & sifaws T forder @aa '@ﬁ T =7 iR &F STt
g2
(A) T/A 912 (B) T/‘369(3b) (C)T/27A (D) T/511.
56. Latest addendum & corrigendum of G&SR of SECR-
GR &7 3fd® correction slip qﬁ’r‘l’ﬂ”%'?
(A)59 (B)60 (c) 61 (D) 58
- 57. SPAD stands in which class of Accident?
SPAD T#® class EFFE{ET'EHT%">
(A)JH (B) F (C) D (D)P
58. How many types of system of working in BSP division-
ﬁ?ﬂ'ﬂ'ﬂT Tt # fohae a‘g #FT sytem A® working Fl'l'{[%?

(A) 2 (B) 3 (C) 4 (D) 1. |
59. In failure of 1B signal a authority is given to pass the IB signal-

B Rrvrer T gr & e R & et 2
(A) T/375 (B)T/369(3b) (C)T/A512 (D) T/D 512
60. SWR is a important records of —
sWR TF fRiE g2

(A) Station (B) Gate (C) LOCO (D) Control.
61. Maximum Speed of shunting of a train is-

Shunting T ATAFAH speed FT g2
(A) 15 (B)10(C)5 (D) 3.

62. Choose the correct option-
(A) T/511 is used for admission of a train in block line.
(B) Calling on signal is fixed in below of last stop signal.
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{C) Shunt signal is used for shunting purpose.
(D) T/375 is used for IB signal.
TqET AT aarare

(a) T/511 ot @Taa & MET A4 T authority 8.
(b) T it e sifaw O e 5 fre gar 2.
(c) Shunt signal shuntingma‘?ﬁ"’{g. _
(d) T/375 IB signal @< T4 & & ST 2.
63. How many types of LC gates-
A g Faa e
(A)1"(B)2(C) 3 (D) 4.
64. How many Zones in Indian Railway?
AT ¥ § T ST 82
(A)18 (B) 15 (C) 16 (D) 17.

65. The reference of VTO is mentioned in-

VTO T I FoheH 22
(A)SWR (B) GWR (C) G&SR (D) DVTS.

66. Calling on signal is recognized as a marker?
Calling ON TRITeT T 9g=T+ T 82
(A) G marker (B) C marker (C) P marker (D) A marker.
67. Automatic stop signal recognized with —
Automati'c' Stop Signal &I & qg?ﬂ‘r!%r %? :
(A) A marker plate . (B) ‘A’ marker light (C) ‘C’ marker {D) “P” marker.
68. Who is authorized for issue of Accident Manual in SECR---
SECR # e FRrarwaefy 1 ST #e 3 forg wifrger A1 2 2
(A) PCSO  (B) DRM (C) PCOM (D) PCME
69. Ifa coaching train gets an accident , how many hooter is sounded?
Coaching 37 % TH&AT 819 fohae hooter a9d 82
(A)5 (B)3(C)4 (D) 2 |



70. What is the turnout time of the ART in a accident case- 12

THZAT 2 & ART AT 7 T #7HT 22

(A) 30 minute (B) 45 Minute (C) 60 Minute (D) 30 minute in day & 45 minute in
night.

71. Who prepares GDR of a train where TXR staff is not available?

TXR F2T% % ST 21 & GDR FT &7 ITLETA (el 87
(A) LP ST 9T (B) TM 2 HASTY (C) LP&TM T qTIAS T T HeASTT
(D) TA ITATAT HETAF

72 . The name of PCOM of SECR ?
SECR % PCOM T &F4T 9TH &7
(A) Rahul Verma 0g< FHT (B) Rahul Agrawal TTg<t STAT (C) Praveen

Pandey T&1UT 97€ (D) Pradeep Kumar.S&id FHTT
73. COA stands for ---

(A) Control office application. (B) Coaching operation application. (C) Control
official application.(D) None of these.

COA 3T 3T AT T &2

(A) Control office application. (B) Coaching operation application. (C) Control
official application.(D) None of these.

74. Authority for sending a relief train to clear the disable train in Automatic
block section-

(A) T/A 912 (B) T/B 912 (C) T/C 912 (D) T/D 912.

Automatic section & FTE TTEY AFET H A€ B A relief train
7 tRET 3 82

(A) T/A 912 (B) T/B 912 (C) T/C912 (D) T/D 912.

75 . The timing of Turnout of the ARME from a base station in an accident case
in double exit ?

§ﬁ€ﬂ| @%{ﬁdouble exit ¥ ARME departure T FAT T 22



(A) 15 minute (B) 30 Minute {C) 25 Minute (D) 45 Minute.
76 Vande Bharat Express runs between-
Frd WILT U9 TET Tl 32

(A) BSP-JSG. faeITa{T ATGLHIST (B) BSP-NGP.TI=ITEYT ATTIX  (C) BSP-
KRBA.fA=TTq #IaT (D) BSP-KMZ. e qe et

77. The IRITM is situated at which place?
IRITM gl 9% Fafera g2
(A) Lucknow (B) Banglore. (C)Chennai. (D) Delhi.

78 . Unusual register is maintained in control by-

sraaT=g TRy B g maintain FRTSTAT 2

(A) Section controller (B) Chief controller (C) Security control (D) Coaching
controller.

79 . Who maintains the coaching punctuality of a Train in control ?

T &7 punctuality T @G e g %&TWE‘?
(7) Coaching Control. (B) Wagon check control (C) Goods controller (D)
None of these.
80. How many Track machines may be sent during block?

7T % 2O AT track #e UF @ § 99 €64 82
(A)10 (B)8 (C)5 (D) 12

81 . Under which Rule can a Railway employee be suspended if
criminal charges are pending against them? / 7f2 feft e wi=T F

TS ATCTE ST St & dv e e % aga S Mefaa o
ST TohdT 82
(a)Rule 5 (b)Rule 6 (c)Rule 10 (d) Rule 8
82 . Which of the following is not a minor penalty under D&A Rules in
Indian Railways? / FeRRa ¥ ¥ f ar Mg WA ST G2 U
Frreit 3 dgq oY 45 T &2



a. (a) Censure / A= ,
b. (b) Reduction to a lower stage in the time scale / THIATT H TH
e @ IT vETEA i
c. (¢) Withholding of increment without cumulative effect / F=t
s o f3AT 3aaw gy T
d. (d) Recovery from pay of pecuniary loss / Faa @ fefw g1fA &7
83. Wl?i;-{:ﬁz-luthority has the power to initiate disciplinary action
under Rule 9 of the D&A Rules? / < % € fzwt % fAaw 9 % dgd
ALTTEATC FICATE 4 FLA FT ATehrT e 22
a. (a) Disciplinary Authority / SFSTTE TR
b. (b) Reviewing Authority / qereT wrieET
¢. (c) Appointing Authority / ﬁ*{[ﬁ*ﬁ et
d. (d) Divisional Railway Manager
84 . Which document specifies the procedure for conducting

departmental inquiries in Indian Railways? / ATt e # A

ST F it v v esraw # A Hr g §?
(a) Railway Services (Conduct) Rules /e Far (ar=er)  fHEe
(b) D&A Rules, 1968 | |
(c) Railway Act, 1989

(d) Constitution of India / STTATT HiTemH

85. Under D&A Rules, which is considered a major penalty in Indian

Railways?/ﬁ@q%%mﬁﬁﬁ@%ﬁ?m%’?
a. (a) Censure / et
b. (b) Compulsory retirement / fsarl EENEEIN]
¢. (¢c) Withholding of increment / I gl LT
d. (d) Suspension / A== |
86. According to Indian Railways D&A Rules, 1968, an employee is
entitled to submit an appeal against a penalty order within how

many days? / WTCH 1T Y4 €F U U e, 1968 ¥ HATATE, &€ AL &
Ry FEET R AT % ofiax srdfier ¢ aar 82

a. (a) 60 days / 60 &=
" b. (b) 45 days / 45 fa=

it



c. (¢) 30 days /30 EC
d. (d) 90 days/ 90 o=
87. What is the minimum time given to a charged official for
submitting their written statement in response to a charge sheet

under D&A Rules?/é’rﬂgqﬁaﬁ%mmaﬁwﬁﬁﬁﬁ
Wwaﬂ?r%ﬁrqmﬁﬁaﬁmﬁwﬁmmmﬁmm
T2

a. (a)7days/7ﬁ7r

b. (b) 10 days / 10 fa=

c. (¢) 15 days/ 15 ==

d. (d) 20 days /20 &=
88. Who can be appointed as the Inquiry Officer for a departmental

inquiry as per D&A Rules in Indian Railways? / T e § S s
qﬁwﬁ%mﬁﬂwﬁﬂaﬁ%mmaﬂaﬂﬁ%mﬁﬁ@rﬁw

a. (a) A Gazetted Officer / ASEIECECICERA

b. (b) Any employee from the department / T a6 S oY AT

c. (c) Only the Disciplinary Authority / Fae AAATHA grfersTa

d. (d) Appointing Authority / ﬁ'ﬂ"%ﬁ EUCENRY

89. Under D&A Rules, which penalty may result in an employee’s

removal from service without affecting their pension benefits? / St
q’gqﬁaﬁ%maﬁﬁmé@mﬁﬁﬁmﬁwﬂnﬁﬁwﬁa
far AT & gET T I I GHaT g2

a. (a) Compulsory retirement / sfaaTd FaTHgT

b. (b) Dismissal from service / 9T ¥ FETE

c. (¢) Termination of service / TaT qATH

d. (d) Removal from service / FaT & g2TAT
90. What is the maximum limit for the penalty of reduction to a lower

stage in the time scale of pay under D&A Rules? /ST T8 T IERLIED
agaéwmﬁ@ﬁaﬁquwﬁaﬁaﬂmn@ﬁmw%’?
a. (a) S years/5 T
b. (b) 2 years /2 99
c. (¢) 3 years/ 3 g
d. (d) 1 year/ 199

18
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9T. Which of the following is classified as a "Consequential Train Accident" in
[ndian Railways?

ﬁqﬁ%ﬁﬁmwsﬂﬁwﬁwﬁhwn R LY,

(A) Train Derailment / T T TeLT H IALAT

(B) Trespassing Incident / CIRERLIEARCECI]
(C) Employee Misconduct / FHATIT & FaTATY
(D) Routine Maintenance / IERIELRSCRECIC]

92. What type of accident is classified under "Equipment Failure" in Indian
Railways?

ST Yoy § 0 ITEOT Y AT F AR (e T Y g A A
STt 82

(A) Collision / T&T
(B) Signal Failure / f@lﬂ?ﬁﬁw
(C) Derailment / T T3 ALAT
(D) Fire Accident / STTRIgH T

93. Under which category does a "Derailment” fall in the railway accident
classification?

YT gHEAT AR H A H AT e Soft 3 siaeta sfrar 272

(A) Equipment Failure / 3957 UETIERTIG]
(B) Consequential Accident/ S R ECEE]

(C) Human Error/ﬂlﬂilﬁié

(D) Miscellaneous / EIEE]

94. In Indian Railways, which accident classification includes incidents caused by
"Natural Calamities"?

T Yo #, "I ArTETa T 2T AT TEATH T FIT & FHEAT
aeftareor 7 orfrer forar T 872



(A) Consequential Accident/ qﬁvntﬁ'rg‘ah'ﬂ

(B) Indicative Accident / FTshTdFTAZT

(C) Natural Accident / 91 fa clwgbl T

(D) Preventable Accident / EIEIGERCICIEEED]

95. Which of the following is NOT considered a "Train Accident” according to
Indian Railways?

AT T % SATATY, ﬁ'ﬁﬁf@ﬁﬁﬁﬁ?"ﬁm TRt WY STt 82

(A) Fire in Train / ﬁﬂﬁ?ﬂm

(B) Passenger Slip / 31 EIEA IR E]
(C) Collision / Z&T

(D) Derailment / TeX =3 a1

96. What is the primary duty of a Section Controller in case of a train accident?
3 gefee £ Rl § SFerT FFrere 1 AR FAeT FTE?

(A) Assist in Rescue and Relief Operations /
TATT AT TRTAH AR TR AT
(B) Conduct an Inquiry / SITHRTAT
(C) Prepare a Report / ERIEGRIRETEE
(D) Inspect Train Coaches / T EQICEAIERICTEE

97. Which document should the Section Controller update after a train delay due
to an accident?

%%Wﬁﬁéﬁ@ﬁﬂﬁ??ﬁmﬁ%ﬂwmw FT ATSE FIAT
aﬂ%q‘?

(A) Control Order Book / fri=roraaorq fEasht
(B) Accident Register / THEATI (T2

(C) Train Time Table /%-‘-mmﬂ"’ﬁ

(D) Attendance Register / wﬁaﬁ‘rﬁw
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98. Which of the following is the duty 'of a Section Controller in the event of an 21
emergency?

mﬁaﬁrﬁ%ﬁsmmaﬁraﬁ?mﬁw@mé?

(A) Report to Chief Station Master / EIELTTHTECTR I ERIEEITE
(B) Arrange Assistance and Resources / HE AT AT TEITH AT

(C) Call the Passenger / msﬂaﬁg?rm

(D) Inspect the Accident Site / o EATETAF ERSEMETGE

99. A Section Controller is required to keep the following updated for smooth
traffic operation. Which one?

anW%WmQHWﬁWﬁWWWQW%
I |T?

(A) Signal History Card / EPERERREIS
(B) Crew Record / ATl Rate

(C) Control Chart / fr=ror=re

(D) Medical Records / fafaamiists

100. In the event of a signal failure, what is one of the Section Controller’s key
responsibilities? '

ferrer FreraT &t Rufy &, Fer Ferer it U TE el w1 g2

(A) Direct the Station Master to Take Precautions /
AT Ch T g et aeredr

(B) Inspect Signals / ﬁmmﬁ'&a:rw

(C) Repair the Signal / IEUCEIGER ERG I

(D) Investigate the Failure / [EEEGIEISIEERGI

101. Wagon check controller whats duty in control-.

Wagon Check Controller T AT FH g2

(A) To maintain Wagon (B) Coaching train (C) Punctuality of train (D) Asset
Failure.

102. Who is overall incharge of Divisional Control
office?



Hed[ F2T ATHE T incharge FIT ZMAT 872
(A) Sr. DOM (B) Sr. DCM (C) Sr. DSO (B) Sr. DPO

193. What is the width of BG Track-

Broad GaugefTTrack#ﬁwidth|%ﬁﬁ 272
(A 1676 mm (B) 1400 mm (C) 1500 mm (D) 1600mm

104. System of working falls under chaper --—--of G&SR.
araT=g A & e xhapter q system of working ERIRRIES

(A) vii (B) V (C) vi (D) iii

105. The office of section controller generally
situated in-

CEACPEC A IRIE i FARA R
(A) control officer (B) Station (C) Depot (D) Shed.

106. FTR Special train is 'in which category traln-

FTR Special‘HélﬁkﬁﬁWmﬂl%?
(A) Coaching (B) Goods (C) Material (D) BD

107. Generally maximum speed of a non-interlocked
peint is-

Non-Interlocked pointﬁ“”gl*TFﬁE?HHhﬂﬁ:ﬁ%ﬁ#T?ﬁﬁ%?

(A) 15 kmph (B) 30 KMPH (C) 20 KMPH (D) None of
these.

108. Detonator signal normally expires-

eraT frerer iy araTea At G 2
(a) 5 (b) 6 (C) 7 (D) 8.
109. . SF-5 kya hai?

(A) Major penalty (B) Minor penalty (C) Normal penalty
(D) None.



110, faror O weg Yo e e arfeacd |/ aT?

~

I= which year SECR. has formed?

AL 2001 B. 2002 C. 2003 D. 2004
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